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Learning Outcome 5: Data Handling
Assessment Standard: We know this when the learner

8.5.5 Organises (including grouping where appropriate) and records data using tallies, tables and stem-and leaf displays.

8.5.6 Summarises grouped and ungrouped numerical data by determining mean, median and mode as measures of central tendency, and distinguishes between them.

8.5.9 (b) (c) Critically reads and interprets data presented in a variety of ways to draw conclusions and make predictions sensitive to the role of: categories within the data (e.g. age, gender, race); data manipulation (e.g. grouping, scale, choice of summary statistics) for different purposes.

8.5.10 (b) (c) (e) Considers a simple situation (with equally likely outcomes) that can be described using probability and: determines the probability of each possible outcome using the definition of probability (see Mathematics Learning Area Glossary); finds the relative frequency of actual outcomes for a series of trials; predicts with reasons the relative frequency of the possible outcomes for a series of trials based on probability.
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To be completed later.
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1
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Educator and Tagging Information:

Assessment Task

Questions:
1.

	Amount Spent
	Number of Customers

	R0 - R30
	15

	R30 - R60
	25

	R60 - R120
	125

	R120 - R240
	56

	R240 - R480
	18



The table above shows the spending of customers in a department store over a two hour period. 


a)
Based on the information above, what is the probability that a customer entering the store will spend R55?


b)
Based on the data given, what will be the probability that on a Saturday shift of 6 hours, a customer will spend between R120 and R240?


c)
What is the median expenditure per customer? 

Solution
1.
a)
We cannot answer this question, as it deals with an individual point which has been categorised with other points. 


b)
We need to calculate the number of customers that come into the store over the two hour period. This will be 15+25+125+56+18 = 239 customers every two hours. So this means that P(120<x<240) = 
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. So 23% of the customers will spend between R120 and R240 in this six hour shift – this is based on the relative frequency of what is spent in a two hour shift.


c)
There are 239 customers, so the median value will lie at: 
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th customer. This lies in the class R60 to R120.
The advantage of grouped data is that it makes the data more useable. The disadvantage is that one looses individuality.

Learners also have to use the relative frequency in questions where it is needed. In (b) it is not necessary to use the relative frequency and increase the number of customers coming into the shop in a six hour shift. 

Appendix of Assignment Tools

Grouped data

Probability

Median
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